


180~

v

A
Sind = S/f\(mov‘x\ D

= Sa A




LA-LD< o (allonal << ABlD)
< R—= D= ¢ (L/s N Séme <o ‘—'\Mq

4/&:4(: < (q]leff\c\tf é/g 43}@3)

éABM i (&Dc M (ejwm\)ubs

AN )RBY*‘T ol AP o
}SOS(ZKQ5 <£‘\‘Q€ AS . :>

AMZ&T L (= ader ot SOl
DM T M ( =q (Lp\g ,,\\g'orcc’vracb\)‘\\

Ab = BC
=



LAMBY £ Appe o

LPNRA LR L QUPE « NP2 300
(i <L ™ él\,L«JVII(C«L/Rl>

< + [ §o '%@4)@4 J@o-%ta T 36O













S

N

F 75






10



AOXB_— ﬁOD /__L_ cen~te , Ig;-ecjrs 4L\D/JS>
J OXC ~— O\L’)D ( | re~tre I\slsrc,ls c\qord'5>
soxct Loxb= 1% ( gw\:gw L CXD)

D

D L OXD= Ciou

’7\'\\1\3 /\ EX’:D: OO
Aok possible unbess AX (s 3\)
: bt AX ondl BD indersedt se
: < LJ“P(\Q‘\'Q/C\\ C
/L\EC\D 'S C\C\(C\ Cl\J\Q u | A\( < mo). &b
L LCADH (cabzr&o (Qg\:x:sk‘és ‘
- Ql brnes O fs
AR Lisects <D ~Pp \3\
ARCD s Mdf‘ﬂm (cll'q\jmqk HWJB
7/ ) |
Clean—zcRrD  (Oppotike €t )I@WF\B
LCP\Q—_Q(OO
O e (et




L OXR= qOO

loxy= 45

12



MB= BQ/
BP=AQY
AP(IQR

13






